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10.

11.

12.

Instructions — smlemirsei

This question paper contain 70 questions in part A (General knowledge) @nd 30 questions in part B (Psychology) related
subjects.

Geaielamisreisd uGd ‘o Gurg sifeled 70 eflemesEnD  LBHID UGS ‘@ o _aieluied  FhSIome  UTLkiseisd 30
MlGTHBEHID 26166,

The type of question paer (A,B,C or D) should be shaded in-the answer sheet using blue or black ball point pen. The
answers sheet without shading the type of question paper wilkhot'be evaluated.

@phs elamssreis sumsamw (A,B,C or D)alenLsorefsd sBGewLTer G GHade0 Beob. (&) SGLUY BB umed uruien Guemeneud
Qarewi(p sr1pd e LULenL S Leoyb. eleambHHrellen suendemuy, LILenL S LT LT, SibH ellenl S el gL UL T LTSI
Write the Registration No. using blue or black ball point pen at the appropriate box in the answer sheet.

allenLHHeMsd, Heold (o) &@LU BB umed uruien’ Guisieneuds CBTetiB LFey eamienem ASBSFW SLLHH60 611pd, L6 L emL
SLLeYLD. >

Answer all the 140 questions should be shaded’in the relevant circles using blue or black ball point pen.

Answer all the 140 questions- 140 GasiielaeEned@id el Welbs GolewiBLD.

Each question carries half a mark. geiGeumh  Ehsiialea@id Sieny 1AL alpHIBILIGLD.

The answers to the question should be.shaded in the relevant circles using blue or black ball point pen.

alenLHewen Heold (o) LY BB ured \uruien Guemeneuds QHTERIB bHbHDH UL LHIG6Ts0 L enL &L Leylb.

For each question only one answers is to be chosen and shaded.

Qm alamalBEd @wm ellwLemw WEGGD LlenL S L.

For wrong and improper shading, no marks will be given.

SHOUBTS UL ML SHL1gemmB60m, \DilgHHe0 HhHHmB6N QFUSTCOT SibdH CHeTald@ WHICLISIE ML SHBTHI.

Write the RegistrationNo,\n the question paper- ugey sreienen CssiialldETeied TIPSR

Write the SI.No of the"OMR answer sheet in the question paper at the appropriate place.

OMReienL g amefem eiamiensmr GaxeellhHmeflled 6T(pSHALD.

If there is any printing error in page No. in the question paper , the same should be brought to the notice of the invigilator
immediately.

2 10g elamsbsreiey g8Hramid SiFal Lewplu, ubsmisst Fflums Gsvsomall LmBeor, GuBuriTensuwimemflib wWe»puill B  Fflwimen
Cxenellbamensnl QUBBISE O&TeTEHLTD SNeYBISBHLILIBGS MBS

All the questions are bilinguial except language questions (English & Tamil)

uTLOu@GE (symidleod wBmid H0) Cxealsamenr HaliHs SmansHs Cxeailbend @yewipl Gomhseaiain C&THaHBUILIL BeiTere.
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PART ‘A’ : General Knowledge

1. #l.a. QFevevliLmelledl BHIT6OBEHET 2001 YD PEWNYBHTN FTHHH W ASTOHLO ellhEH CUBB HIT6D
A) SeuamibaId B) asbdy srsid

C) aumgeurasd D) suipF dmsmnsi LIBsASBal

2. Quepiomeir HmGWT, BTeOTUIFS Hewl LITUBHHHD DenLobHleTen S HGLDTLL
A) mhsmd Hoooms B) <ummd S@mGiomg
C) mreiismd & mGomi D) en"Lmb &HmGom

3. Universal Gas constant value R =?
Qural euruy ompsled R-6o1 ogiy?
A) 6.023x10% B) 81.31 J mol™* K
C) 8.31x10% I mol™* K™ D) 8.31 J mol* K*

4. If the acceleration due to gravity becomes 4 times its original value;then escape speed?
A) Remains same B) 2 times of‘@riginal value
C) Becomes halved D) 4 times.of original value
FTU6 (PpBHBHH6 WHI DG SHBOUTmHW AL Tenelt BUTey BHT6IE LOLMISTS LOTHS6nTe0
alBUBLD Geusid?
A) rBrs) B) 2 wLmsngd C) urdwn@ib D) 4 wLmsreb

5. Which is called dry ice?

A) CO; (Solid) B) CO (Solid) C) O3 (Solid) D) H,O (Solid)
9 60T Leldbsl g eTeliLBeud]?
A) Sewio CO, B) &ewio COx C) Sewio O3 D) &ewino H,O

6. Which fertilizer is called “Nitrolim” ?
A) Super phosphate B) Calcium nitrate C) Calcium cyanamide D) Sodium nitrate
embL_GITenevld 6IIMENINSSIILIBD 2 Jib 61517
A) @l umeroGuL_ B) smeodlwid enpl Gri
C) asmevdlwb Fuwisnend® D) Gamouibd empL Gy

7. A new frontier of\drug design employing small stretches of complementary DNA and RNA is?

A) Pencillin B) Oligounucleotides C) Ampicillin D) Ciprofloxacin
DNA i RNA-aler Fpflw 5o mleoliuglildensm LWeTUBID oHbSH! clIgelenDdh@GHID 616060607

A) Quissideebr B) <1608smBlul,delGuiment L erd

C) ot dedesr D) #AuGym. . NenmesGerodlest

8. Who produced induced mutation was?

A) Hugo De vries B) T.H. Morgan C) Mendal D) H.J. Muller
SITWIL (LU FHleT 1oTBBIHMS (PH6eVls0 gBLBI S WeT?
A) afwBsm-g-alfled  B) 19.616.Giomitesesn C) Guwewied D) e1&.82g.(psvsvir
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9. Match the following

10.

11.

12.

13.

14.

15.

16.

a) Self Respect Movement - 1) Rajaji

b) Kulakalvi Thittam - 2) Tilak

¢) Home Rule Movement - 3) Periyar

d) Father of Indian Unrest - 4) Annie Besant
QUITHSHSHI%:

a) swflwrensd Buissid - 1) pregredl

b) @evssevals S Lib - 2) Fevsy

C) seneuml & Guibasld - 3) GQulwmir

d) @b smwdulsenouls shme - 4) Sevel CLFe
A) 3142 B)3 412 C)3214 D)3 421

Arrange the dynasties of Delhi Sultanate in Chronological order

1) Sayyid Dynasty 2) Khalji Dynasty 3) Slave Dynasty
4) Tughlag Dynasty 5) Lodi Dynasty

QL6060 FUHTANW QULDFHIBM6T BTV TNFLILIBHHIHIS.

1) ewFWSH 6UDFID 2) &l6vdl euFLD 3) SIgemD QUDFLD

4) HIH6NH GUDFLD 5) Geomg eubFLD

A)3,2,5 4,1 B)3,4,1,5,2 C)2,1,4.8;2 D)3,2,4,1,5

Is the Tajmahal as the Big Temple

A) older B) oldest C) as old D) one of the oldest

Plural form of “alumnus”
A) alumna B) alumni C) alum D) alumnus

is the longest mountain chain-in the world

A) The Rockies B) The Himalayas C) The Andes D) The Alps
2 eudlell W& HEWIL LoeMeVdH OBHTLF .......... AGLD.
A) uTenmesiT B) @uwuiosnev C) ayuemigerd D) eyeoriend

The tropic of Capricorn<faces the sun directly on

A) September 21 B) December 22 C) June 21 D) March 21
wa] Cremsuiled Gfiils salifsen Chrgwrs ellugd HTeT?
A) Qelibui 21 B) w&bui 22 C) ofer 21 D) wmig 21

The congress session which passed Poorna Swaraj Day Resolution in 1929 was held at

A) Lahoore B) Lucknow C) Chennai D) Delhi
192960 Ljemr &WITRedlul [BT6lT HToTenHmeS HemmGaummlul SrmhislTery 1omBTH BLbdhd S ID
A) eurgal B) evéGeurr C) OQzsienen D) GLeved

Mook Nayak was the Journal of

A) Annie Besant B) Rajaji C) Bhagat singh D) Ambedkar
‘(pd BIUIE 6Tl LHANendemUl [HL GHIUIeN]
A) sieeNGLFe B) pregred) C) ussHFm D) ouBushsit
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17. Which ‘one is the largest cells in white blood corpuscles?

A) Lymphocytes B) Bosophils C) Monoscytes D) Neutrophils
BB QIBBIST STHeH OeusTenenamibseiled 10&s0 Cuifluig?
A) SBureneal Bebsit B) GuBam. .60 C) GurGeimenaL [Ba6i D) Buyl Gym. ..760

18. Who proposed the “Natural selection theory”?

A) Lamark B) Linnaeus C) Hookar D) Charles Darwin
Qubens Bxje Osmetensemnul Geuelir Leir?
A) eomionités B) e9eiGeierd C) afébasit D) &niteverd Lmireedr

19. The height of cone if radius 5 cm and slant height is 13 cm -
I 5 GF.6 1oBmiId FTuwgd 13 6F.16 sefled ChJaul L DN 2 WILD ... l)..
A) 12 cm B) 10 cm C)13cm D) 15 cm

20. In x2 — 13x + k = 0 the difference between roots is 17 then value of k is
x?2 —13x + k = 0 aTeip  FLOGILTL 96T Apeokisaisy elldgurad 17 emafled Kk ullsr oginy
A) k=30 B) k =-30 C)k=20 D) k = -20

21. Constitution of India was adopted by Constituent assembly on?

A) Dec.09,1946 B) Dec.11,1946 C) Nov.26,1949 D) Jan.26,1950
SITFlwied BiFemgFmuwTed FFlwlevsnlolil] gBmIbosreioniul L oge®?
A) aibut 09, 1946 B) w&oui 11, 1946 C) meubuit 26, 1949 D) ggemeufl 26, 1950

22. How many municipal Corporation are there in thé)State of Tamil Nadu?
SIODBTL Q6D 6THSHMEN  LOTHTHITLFH6T 2 6iTeren?
A) 14 B) 20 . C) 15 D) 21

23. The oldest aoil field in India is in

A) Haldia B) Bombay High C) Neyuveli D) Digboi
WO LIDEMLDWITE  6T60TG6mTUl U6 617
A) emmeolguim B). Qiburul smam C) QpuiBsusi D) waumul
24. Which one of the following countries is not a member of ASEAN?
A) Vietanam B) Brunei darusallam C) Bangladesh D) Mynammar
Leteumeusiioummien 61bd BTH  ASEAN-uled 2 muilengres &evensv
A) elwl’ Bribd B) tmel sHmaevid C) aumisren@said D) wlwimedrior
25. oullemev Ferll. CoumisL FMIS Di6UTH6T 61(1IDH Ul BITELH6MNED DIEV6VTH Q6B
A) grgenF QFUIuleT 10EHF B) wenmpa Guren HOD HIeLSH6N
C) usLEVAITHT6L SUTETH) D) swswmipid SO0
26. The Epsom salt which is used as laxative is ?
O6VID @eMHE TS LUTUGD 6IUFID 2 L] 617
A) MgSO,. 7H,0 B) ZnSO,. 7H,0 C) FeSO,. 7H,0 D) CuSO,. 5H,0
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27. Which acid is used in the lead storage battery?

A) Sulphuric acid B) Hydrochloric acid C) Nitric acid D) Boric acid
&1 BuiLfsefed LWeTUGSHSHILGID Didlevld 6117

A) shHs Siblevid B) swamt Gyr @&Genmia  iflevid

C) ool flé sidlsoid D) Gumia oudevid

28. Which of the following quantities is scalar?

A) Dipole movement B) Electric force

C) Electric field D) Electric potential
BIPHBEMIL DGO BETH6IT 61FH YUEHELTT DIeMOUTGLD.

A) Smupsner HbLiLgme B) Weigev elens
C) e eo1d D) ssienapsHHid

29. An example for C4 plant is? '
A) Sugarcane B) Potato C) Wheat D) Rice

Cs pramsehd@& @T 1BHHIHGHT(H? )
A) s(bibL B) 2_mewen C) Gargemw D) Gmsv

30. Most of the energy during aerobic respiration is produced. by the?

A) Electron transport chain B) Glycolysis

C) Kreb’s cycle D) Pyruvic acid oxidation

STBWIF FUTFHHL DICHS o6 YBML RS0 2 BLIGHH CFLIILILGHBSHI?

A) eTeuELITeN BLSHFH FRIde B) Senenssmeridlen

C) &rlgpnd D) ewumeld oidev oudenlegGemmio
31. Who drafted people’s plan?

A)Malthesus B) M.N. Roy C) J.P. Narayanan D) S.N. Agarval

DHH6IT HILLD 6T6LNS 6UIQaIMOHBH6UT Wy ?

A) 1DTELSH6MD B) M.N. ymu1 C) Gmuiigsrs pryrwentsst D) S.N. Sisigeumed
32. The main difference between GDP and GNP is

A) Capital gains B) Transfer payments

C) Net foreign income from abroad D) Capital consumption allowance

G.D.P. 550 GNP —-s@ib @ Cuiulsien Geumun® etedreo?

A) P6VSHEIEVTLILD B) omBm OFevdHHgH60

C) GeualiBmiged SmbdH HemL @G Hiey aumTerd D) cpsv Her HIBTe| HLe]

33. Choose the correctly matched one.

A) Battle of Buxar - 1764 B) Battle of Plassey — 1758
C) Vellore Revolt — 1906 D) Great Rebellion — 1885
Fflwmenr Qememreniids CHiThOHBHHBHD

A) uderonit Gumir - 1764 B) wWenmél Gumir - 1758
C) Gougurim HevsmId - 1906 D) Guid gL d — 1885
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34.

35.

36.

37.

38.

39.

41.

42.

Who was the first known person in the world to have devised the ‘ship’s camel’, a barge on which a ship is
built?

A) Babar B) Jahangir C) Akbar D) Humayun
‘LU @U LB eILBID OHTH B USMS 2 60HHHCOOW B Mlbd (PH6V HLIT
A) umuit B) sya&mmianiit C) =iduir D) anfomuye

The smallest of the living apes is?

A) Gibban B) Loris C) Orangutan D) None
Al suemsd QUTIPLD 6uT6L @606V GHIMIG 6UNSH?
A) @rimes B) Geomflerd C) auyeii@Lme D) gaidsvenev

The resolving power of normal eye is?
FTHMTE0T OGS  H6evTeuulled LIGHMB6S  6I60TLIG).

A) 100 M B) 1,000 M C) 650 M . D) 10 M
Who Conducts Local body elections in States?

A) The State Government B) Election Cemmission of India

C) State election Commission D) Governaor

rpHlevmiseled o sitenTl & BHTHemev BHLHHleug wimy?

A) IDTHIEL DITFTHIGID B) @b CHigHed S ememiuid

C) rplev BHieHe0 SememiuiDd D) &yembi

Look East Policy was initiated by?

A) Narasimha rao B) Narandra Modi C) I.K. Guijaral D) Rajiv Gandhi
HipdH@& CHTHHUl QHTeTend WMITEL 2 HEUTHSLILL L &7
A) Byl gme B) pGybaly Giomig C) m.65. &eymed D) gredley &b

Area of Equilateral triangle

A) % bh B) /S -A) S —B)(S - C)
02 a2 D) 2 (hy + hp)b

d= —31—j+5kb=1—2]+k é=4j—5kthend- (b x &)

d= —31—j+5k)b=1—2+k &=4]—Skeafod- (b x &)

A) -3 B) 3 C)6 D) -6

Spot the error
Kiranis / so ill to / go / to school

A B C D
A) A B)B C)C D)D
It rain tomorrow (modal verb)
A) will B) must C) may D) might
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43. In which year National Highway Authority of India was set up?
b W BHHW CHrFw OBBEHhFTEmeL ememID Bmieulitl L g&)?
A) 1993 B) 1990 C) 1995 D) 1992

44. Which device is used to convert DC in to AC?

A) Rectifier B) Inverter C) Amplifier D) Transformer
CrTaengF WHICTL L Hemd LommIgend LOl6IGeTL_LIoTs oTBMm LB eaugl?
A) HmsaH B) Gmirommns C) Qumsd D) o)

45. Which type of lens is used in wide angle spy hole in doors?
A) Convex lens B) Concave lens C) Convex mirror D) None
QeueflwT semsnd QpMBaHI0sTsTon il 96 BHeyH6Msd GBLUBHSLILGL 2 _6neyd Hieneraeisd
QUT®HSHSHINLIB S dTmen ?
A) @l Gevsierd B) &1 OQevsiierd C) & =g y D) gaidsvensv

46. Cost effective and most popular mode of transport in our country is

A) Roadways B) Airways C) Waterways: D) Railways
BLD BTLIgEL GHemBhe ©F606) LBDILD ewaTeUITeVlD LIWTUGSSULGBLD CuTsdGaugsHal
A) srenevauf B) euneieuf C) wieufd D) @yufsveuif)

47. HUBTE 6N  SHT60I.
A) aewiQLTG Ubs wewieaumulds GHeimed - Feorigdsmgid
B) mefl l&ls (b Breutis @lig - UBHIEID
C) aual Wi aued Revemev - GHWIHOBHTNS
D) mhaflpd St GUTGDE Bagun - USLSfBTs] Ceamsd alGars

48. F.emeu. HTCWTHIeTITED ‘Fymel arewefl’ ereiim CUIBBLILILLaNT BHTLSelluied, aHLTENdS, He0TeId 616313
BTL& BIeOH6T HFFlulLomenteu.
A) LIDID6Y FIDLIHSE0IT] B) ufl@onisenevehi
C) smasrstg geuridaei D) oyuj.ete0. 10Gauimesiy

49. Which is the first state to,receive rainfall from the south west monsoon in India?

A) Andrapradesh B) Tamil Nadu C) Karnataka D) Kerala
@bFHwimelsd OHMBIOBE LHeUSSTHBMBIEL DRIl GQUNID (PFHDL LOTHIEVD 6157
A) upSHrir8said B) sipmr®h C) asipr_asm D) Gayemm

50. Which article of the Constitution gives the Power to President to impose President’s Rule in a State?
LTHEVSHH0 GWTFHSH Hwevau] L & 6hs algHluleiy B (WeBLLBGHHILIGSMBSHI?
A) Art.360 B) Art.226 C) Art.356 D) Art.352

51. During Farazi movement, who said “Land Belongs to God”?

A) Hazi shariatulla B) Noah Mian C) Dudu Mian D) Titu Mir
Sugrd QuissSHSHEUTEI “Blevld BL6)NEhHE OFTHSIOTOIHI 6160 dmpluieT wimr?
A) amred egflwgievsor  B) Gpeur fluimest C) GG wWuwimes D) @ it
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52.

53.

54.

55.

56.

57.

58.

59.

60.

Indo-Greek style of art and sculpture is referred to as

A) Mathura Art B) Gandhara Art C) Bagh Art D) Pala Art
ABCHT-HCrbHHHME0 OMMID AWMU Lmewll sTeleumm @GN LLGaBEHI?
A) ST Hm6V B) smbsiys sHemev C) urd smev D) umeor &emev

In Normal person, the blood plasma will not contain?

A) Mercury B) Sodium C) Calcium D) Magnesium
Crrwmmevfletr @yHs LNenmervwmelsd Sbd Diwedll STewrlILLTEH?
A) urTsrEFD B) Gemguib C) smeodlwibd D) Guaeafduid

The Indian Income tax is

A) Direct and Progressive B) Direct and proportional

C) Indirect and progressive D) indirect and proportional

@bHWT eucpLomer ouffl eT6iTLIGI? -

A) CpiTups wBEBID eueNiTals euifl B) Gpitps wmmid elderany eufl

C) wedmBps WBBID euemiTals euifl D) wenBwps oBmId elslsTary eufl
According to 2011 census, the density of population in India is

A) 382 persons per sq km B) 324 persons per sq km

C) 267 persons per sq km D) 117 persons per sq km

2011 oyb ey HeHoBHBLLTSILY SBHSHWTallsd HH6T OHTend DL THH

A) on FHIHCT B LHHE& 382 BHUTHSIT B) o Fa1y H6eor 5L (&G 324 BUTH6N
C) @ FadBeom 15 L (Hhdb@& 267 BUTH6I D) om #aiy &Gsom 18 LebE 117 bLiTH6N

| promised the children a trip to the Zoo

A) SVO B) SV DO 10¢, C)SVIODOA D) SVOCA
He holds M.A degree in History.
A) an B) a C) the D) No article

The mean of 5 numbers:is+-20 In this one number is removed new mean decreases 5 then
removed number is

5 erewigeenr Frmgfl, 20 SiH60 SHHH @ olewwienen bHobdlemed FITFFullsd 5 GHemBHBHH. 616060
BHBUILL L 616001 e e eeee s

A)5 B) 20 C) 15 D) 40
[tanx dx =
A) secx + ¢ B) secx +tanx + ¢ C) logsecx + ¢ D) log sinx + ¢

Whose model is first five year plan?

A) Dhar B) Mahalanobis C) Harod Domar D) Godgil
W50 RHSHTW(B SILHF6 TS
A) &1 B) emevBeniierd C) emr@y_Lmoj D) &m_a&lev
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61. Which of the following year demonization conducted?

A) Nov 8, 2016 B) Nov 8, 2015 C) Nov 6, 2016 D) Nov 8, 2017

BIpHHMIL By SbaHwmalsd LenodNpli] GFuls elLLD?

A) BeubLiy 8, 2016 B) meubLiy 8, 2015 C) meubLiy 6, 2016 D) meubuy 8, 2017
62. QUITHGHSIS.

1) Qpsenfbaduwl GQLoTH6 - () 7. SBHHWHIGID

2) Hyrel Gomaeflss eUilevdaemid - (b) Gamrdhss

3) @bHwr - QmPseier &I & FTenev - (€) smevBHG6u6L

4) ‘siflwesr’  Guomidleeit - (d) Wgmerdlerd 616068610

A) 1(b) 2(c) 3(d) 4(a) B) 1(c) 2(a) 3(d) 4(b)

C) 1(d) 2(a) 3(b) 4(c) D) 1(d) 2(c) 3(a) 4(b)

63. HUBTINHDH H6wIL 13 5b.
A) s10elB HTH - 268 Hevienimein
B) ws0smeimentuiyii umevseflsd demlGHemen - 108
C) mrFdluny Hm6wmd um_svsmer - 143
D) @ymeusy sreflul SIemiL_migeiT, LILeomiden (WwenmGuw - 5,3300

64. What is called the changing agent of the society?

A) Land B) Labour C) Capital D) Entrepreneur
LeiteumeusieuBmled 6% FpHHmS TBBILD (LPH6eU] 6160im DmPSHBLILGSBEHI?

A) Bleod B) Osmgfeoreniaeir

C) capeogeid D) Gamipled (pemenGeuriy

65. Merchant capital year?
QUeRN B  CLPEVSHEUD 7
A) 1813 - 1947 B) 1947 <2000 C) 1757 - 1813 D) 19" Century

66. Which is employed as a styptic agent to arrest bleeding?

A) Potash alum B). Ammonium Hydroxide C) Mohr salt D) Borax.
GnIY ShULTaMS OFuiedLiGeudl 61%H?

A) QUTLLTOY LIQBMD B) oubGurefwid ewamt yroHemd®,

C) Gt 2 1 D) Gumyrderd

67. In which of the following gas used by deep see divers?

A) He — O, Mixture B) Ne — O, Mixture C) Ar — O, Mixture D) Kr — O, Mixture
DB 60 BHSHILNITHT LIWTIBSHSHID euru| 61g17?
A) He — O, s6vemel B) Ne — O, &6uemel C) Ar — O, s6vemel D) Kr — O, ssvem6l

68. The Growth of pollen tubes down the style is due to?

A) Hydrotropism B) Traumatotropism

C) Thymotropism D) Chemotropism

&HTHH GTUIT eIeMTFAWMLHHI GGlD Henngenss GhTHd alenTalgs?

A) BiBTC LD B) 2 _enOpgmewiiey @uidbsid
C) uBm BT LD D) Geug) mmLib
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69.

70.

71.

72.

73.

74.

75.

76.

7.

The Head quarters of the south central railway is at

A) Bangalore B) Secunderabad C) Hubli D) Hyderabad
OpenosHH W TueLGauulelr HemeveMOUTL D DienLobHleTen S L1b?
A) Qumis@rpi B) déespalymuns C) ameied D) emamsyruns

Which hormone causes emotional disturbances?

A) Thyoxine B) Oxytocin C) vasopressin D) Adrenalin
6ibd amTTéLOTaNTed o 6wiTFd suwILL L OHTHSHTe ST FBLGBHHISMBH?
A) egyredle B) = &Hen@Lrdleir C) aur@amiydlen D) o femedesr

Which district has the lowest child sex ratio (As per 2011 census)

A) Madurai B) Dharmapuri C) Theni D) Ariyalur

2011 &H&H6i OFHTnd HMHOBHBLLIOLIY 61HFH LTI L HH6O GLHMS LTVl eNBHTFFTID G emBeuTsd
o eitenigl?

A) gy B) siwoyf C) Gwpel D) aiflweorit
cot™}(—x) is
cot™ 1 (—x) ereirigI
A) % +cot™lx B) m — cot™lx C) _2—” +-¢cot1 x D)m+cot™lx
-2 2 -1
The rank matrixof A= 0 5 1
0 0 O
-2 2 -1
A=|]0 5 1 ‘ 61601 Siemiuledr FHILD
0 0 O ,
A)3 B) 2 C)1 D) None

Nuclear Fission reaction was discovered by?

A) Klaproth B) Teller C) Curie D) Otto Hahn
SigmibEm Lleey allenemeniids emrLlHEHe?
A) Senmuirs B) GLsveur C) &w D) o GLremme

In Direct Speech “thus” is changed as
A) those B) so C)us D) that

Which article of Constitution give the provision of President in India?
@bHUI GuIHH Hmeval] UBM FmpId FFuleveniolil] ellg) eree?
A) Art.52 B) Art.63 C) Art.53 D) Art.72

The Electrical Resistivity of Nichrome is?
H&ECrTD 2 Beuradamevensuule LOleTHenL ulledm wHy?
A) 5x10° Om B) 6x10° Om C) 1.5x10° Om D) 1.5x10° am

POLICE, ARMY, NAVY, AIRFORCE Contact : Vellore — 72004 00398, Trichy — 81110 70708 Page 10




X \) o ° o TM
() iiuenL LiHd enibund
‘lg_@' The Best Defence Training Academy

78. Which one of the following hormone is involved in abscission of organs and acceleration of fruit
ripening?

A) Auxin B) Cytokinine C) Gibberellins D) Ethylene
6ibe amTTlome SHTeuy 2 miilsefler 2 FiTsHs0 BE@ID Sl Lpliumg SHINSLULBGSHHIFBEHI?
A) aiHendlein B) engl GLmenaseein C) 29iyeveded D) eig8)eSe0n

79. The method of permanent birth control in male is?

A) Tubectomy B) Vasectomy C) Thyrotectomy D) Hyserectomy
UG HEHHHTE QT [HleNEOWITEN H(HHHML  (LPENBUITEGHLD?
A) puiusL o B) aungssL i C) enmGrméL i D) enamgirsL Lo

80. The art fount at Ellora and Elephanta are the contributions of
A) Rashtra kutar B) Guptas C) Pallavar D) Palar
6160B60mBYT  LOBWILD 6160, .LIWIL Tell6L STeMILILBLD H6ewev HIL LD WTHeHL U Lithtderii?
A) TTORI9T Fal Tl B) ousTser C) usveveufHsiT D) umeojssit

PART ‘B’ : Psychology

> Select the Related Number / word / letter?
Fflwmen Senemienuis SHTERIS.
81.CD:34:: AB:?

A) 25 B) 68 €) 12 D) 21
82.8:9::64:7
A) 36 B) 25 C)24 D) 27

» Find the odd one / seupren geitens " Bxies?

83. A) MIZORAM B) SIKKIM C) KOHIMA D) MANIPUR
A) 10@&myib B) desid C) Gasmaniiom D) wewfliigi
84. A) 221 B) 238 C) 187 D) 361

85. If E is coded as. 5,)then TEA is coded 26, then TEACHER is coded as?
E asiiueng 5 stenimid, TEA estiueng 26, steoim stipdlenmsd, TEACHER ersiieng eteieurmi srpgieuiy?
A) 75 B) 59 C) 60 D) 57

86. If MAARK is coded as KRAAM, then PASSI is coded as?
MAARK easiiisngs KRAAM, etsiigl stapdilenmed, PASSI elsiiieng etsueurm stpgieui?
A) ISSPA B) SSIPA C) ISSAP D) SSPIA

87. If BASKET is coded as TEKSAB, the PILLOW is coded as?
BASKET ssiiengs TEKSAB, sistim stapdlenmsd, PILLOW ersiiieng, etsieumml er(pgion?
A) LOWPIL B) WOLLIP C) LOWLIP D) WOLPIL
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» Find the missing Number in series?
llGULL  6T6RIEN6NI  HITGHTH 7
88. 400, 20, 484, ?
A) 20 B) 21 C) 23 D) 22

89. 18, 25, 34, 45, ?

A) 60 B) 58 C) 59 D) 65
90. 7, 49, 343, ?
A) 3087 B) 1029 C) 2401 D) 1091

91. 463, 452, 439, 424, ?
A) 407 B) 413 C) 419 D) 411

» Find the missing letter in series
alBULL IWHMBS HTEHISH.

92.r_stur _s_urr_turrs _u
A) rstuu B) rrsts C) rrtst D) ssttu

93. QYK, ?, ISG, EPE
A) NWJ B) MV C) NVI D) MVJ

94. In the given numbers “9876543210” first is-.changed with second, third is changed with fourth and
so on, then which number is sixth from.right?
“0876543210” e16513 6161 QHTEUILN6L; - (HpFH60 OBEID ST6WILTID 6T6WIBEHID, APSIBTD LOBBID [HT6IHBTLD
TR BEHID  DHICLTEVE6N GIHTL JHH] WBMID 6T60IHEHID L DOLIWLITESIBEHI 6160760, IOBILBLOBHSH HBTOISH
616007 616016077
A)5 B) 7 C)4 D) 3

95. If January 01.2000 is‘Monday means march 02 on same year will be?

A) Saturday B) Sunday C) Friday D) Thursday
meaufl 01.2000, ‘@eis6T eaev, DBH eUmLID wTfF 02 eleiien lpemio?
A) sailddipenio B) epmuimi C) Oeusiter D) ellwmpesr

96.8 x5 % 27 *x 3 x 16
A) X) = +)_ B) ) :P><P+ C) XF = _F+ D) +I ) :Ix

97. 21 (49) 14, 159 (169) 146, 56 (?) 44 ?
A) 144 B) 121 C) 225 D) 256
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98. In a row of 16 boys, when Prakash was shifted by two places towards the left, he became 7™ from
the left end. What was his earlier position from the right end of the row?
16 Guj OsmewiL @@ suflnsulsy Lgsmad QL HIB Crresl Syesih G M6 BEJhHTe0 @R LLBLD
QmbEH 7-0UHTH QUMBBTET 6163160 6UEVLILBLOMHHSH DUl W (LPHenG Ul G LD 6T6d6ur?
A) 7" B) 8™ C) o™ D) 10"

99. In a row of boys, if A who is 10" from the left and B who is 9" from the right interchange their
positions, A becomes 15" from left. How many boys are there in the row?
am euflwgullsy A steiual] S HILBLOGHHSH 10-usHTHaD B sieiiony suevgd UBLImhE 9-0uHTHe D
QAmEBEBTTH6T. RAUTH6T GMHAUMD HHiIH6T G Hibenen oTBH GaTewiTed, A @ IO®mHH 15-61HTH
QUMBMTT eTarie0 auflenguisy eTdHement GLIT? -
A) 23 B) 27 C) 28 D) 31

> Study the diagram given below and answer each of the following questions:

- /™ — Persans who takes tea/ AT =2

10
‘ 2!]/1? (15\ 30 jl 40 ‘ O — Persons who takes coffee [ sndl muluaiisst
7%, 20

20 [ ] —Persons who takes wine /spausi  @ualiusisar

100. How many persons are there who take both tea and coffee but not wine ?
RHlev a1hHHemen Cu 1o BmID ST LB DIHHSHISOBET] MaU6d EN60EVTLO6D?
A) 22 B) 17 C)7 D) 20

> Study the following figure and answer the questions given below.

4 17 . ..
25 } [ 1— artists |/ mipsissi
3
22
& O » Players sllspsmumi [ «f risst
ﬂ — Dactors [ inm&ssuT S

30

101. How many doctors are’neither artists nor players ?
61HHEMEN  D[HHHINTH6T 1oL HBID 2 6iTerent?
A) 17 B)5 C) 10 D) 30

» Which one will replace the question mark ?
Cxeitel @MWILL R FHFHev euyGeussiniouig 6teiresn?

102.
30 5 -5 | -1 ? [
A) 7 B) -9 C) 12 D) -12
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103. 10000, 11000, 9900, 10890, 9801, ?
A) 10361 B) 10525 C) 10781 D) 10871

104. Hemant in order to go to university started from his house in the east and came to a crossing. The road to
the left ends in a theatre, straight ahead is the hospital. In which direction is the university?
A) North B) South C) East D) West
Camiohds eT6iiLaNeT Al 1960(HhHI LIGOHMEVHBINHID OIF6060 HenaTdbBImTer. @HIpHdls0 EMHBGHID D6
I 196eVHHEHI oMbl Fmemev FhHHULI60 eubH BBSBTEN. Dieusd GGl BB FTM6V (LPIgailed
SHEMTWITRISPLD, 6THFl60 LOHHHINIDMEIUID NHHHTL LISLBMEVHHIEID 61hFH HewFulsd QmHELD?
A) auLs@ B) GaBe C) s D) Guom®

105. Evaluate / wgiy srems: (256)%16 x (16)%18 = 2 <
A) 4 B) 16 C) 64 D) 256.25

1 1.1 1 1 _
106'1+E+Z+;+E+%_?
A) 4 B) 3 C)2 D)1

107. In a family of 5 members, X is the sister of Y. M has 2 childrén-and he is the son of E, who is the
father-in-law of H. H has only one son. Y is not the grand-daughter of E. How is X related to E?
A) Sister B) Daughter C) Grand-daughter D) Grandson
5 Guy OsmewiL GHBUSHH6e0, X stenilen] Y-601 F8HMHF. M—B@ @remih GbHmHEeT Gevld Sieuy E-er
a6 ety E-steiiueu H-sor omosun speurny. HB@y @Cr @ waer srer. Y esiusuy E-er Gugha)
Sievev eletllew, X etaiiieu] E-m@ ereiienr 2 mey?
A) #CsrHif B) wasit C) Gusa D) Guyen

108. Count the number of parallelogram in the given figure.
CaETHSBULL L LILGHH60 615HHMN (DM HIHET 2 6iT6rTen !

A) 20 B)18 C) 16 D) 12

109. In the adjoining figure, if the centres of all the circles are joined by horizontal and vertical lines, then find
the number of squares that can be formed.
CaThHHSUUL L LLGHH60 2 6o 6l L BIG6MeD OFRIGHHHTHND, HeNLIDL L IOTHAD CHTBHMET 6l HIHTEV
61HHEMEN FHITHIBET 2 (HAUTGHD?

A) 6 B) 7 C)8 D) 1
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110. There are 19 hockey players in a club. On a particular day, 14 were wearing the hockey shirts
prescribed. None of them were without either hockey pants or shirts. Eleven were wearing the
prescribed hockey pants. How many were in complete uniform?

QR Senlled 19 amrddl aiffjsel QmbHeT. @m GBUILL prefed, 14 Gui amréssl Fleml
Siemilbleieneny. 6160G60THID FLewL BT Disvevdl HTBEFL L G iewlibgisieneny. 11 Gu amrdhs)
STBFLML SiewibHI6NT6N6eNT 6Tailled 61HHewen GLT aBTHES 2 enLenul (LPIDSHLOWITS  Si6uullhleTenet) ?
A)9 B) 6 C)7 D) 8

111. There are some flowers in a basket and at every next minute they get double. At the 30™ minute
the basket becomes full. Then at exactly which minute the basket is half filled?
A) 15 minutes B) 20 minutes C) 29 minutes B) 12 minutes
el Uled FPHene] LUHH6T RmbHe @6lbeurm BIOLHHBSGHD DFH R iguundl. CaremiCL S mab@Lb.
306ug HIOLGHHL FnedL (PIPAUBID LLHH6T HIDLISI L T60, Fnenl 6l BILOL HEI60 Dienyeurd]
BIrIumEELD? <

A) 15 plLib B) 20 pldLib C) 29 BpifLib D) 12 HublLib

112. If a number is greater than 5 but less than 9 and greater than/7.but less than 11, the number is?.
@ etewr 5-03 el Quflwg b wBBID 9-g3 ol Alwgd Cuweb,\7-2 el Guflwgid wBpId 11- el
FBwGID eTaNed Dibg 6T6wT  6l60T6N 7
A)5 B) 6 C)7 D) 8

113. Individuals with a strong desire to achieve a challenging goal have a strong need for
A) Power B) Affiliation C) Achievement D) Recognition
QB SANIAIGHGSG HbWLTET KeHamdE lmLijb GHamal aledend GLIDNBHSTOD Dlgamer

SO IbID CFTed.
A) AH&ETIb B) gmhg WHHID Nenewihdl CHTaTDISH60
C) anHdbgd Hner D) IBSSHTTID

114. Hypnosis can be described as

A) Deep sleep B) Altered state of consciousness

C) Living in another.world D) Going back to childhood.

S saiLapBled) apmear AP0 Heneo” a@ip JopGaITLD.

A) Sbiphs SITdbS Hlened B) pDHIID FIOBIETS DS [Hlened
C) GaibnT®m 2 wEHMmG DL g D) gpbemng Ljalsams oL ag
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» DIRECTIONS (Q. Nos. 115-119)
Study the following graph carefully to answer the questions that follow.

Number of Boys and Girls Studying in five Different Colleges

t []Boys
© 6000: PAGirls
S 50001
c -

m 2\

% AOUO‘ =

& 30001

o] i

g 7

g ¢0001 L///” % |

= 2 A v/ 7

z - /,/,Z //,// s v
1000 A T/// 7 7 5/4

K 'C/”/] ///;‘j :: ] ’//4 5
Q R S T
Colleges

115. What is the respective ratio of girls to boys in college T?
T-e16i3 HeLUMHUTED LIQHGHID oTewIe LOBMID OT6RTENTHEHHEHT MNBBID HT6wIH?
A) 2:3 B) 3:8 C)4:7 D) 2.5

116. The number of boys in college S is approximately what per cent of the number of boys in college Q?
S-sevaumfluiled LIgSHGID wrewauTHs Q@sveumflulesd Lge@D TeeNfHeiled eTHHemen &FHaiHid?
A) 75 B) 116 C) 129 D) 88

117. The number of girls of college R is.what per cent of the total number of students of all the colleges
together?
R-s60s0mflulied LIgd@D omemalden ienaihdl Heomflaeiland Lps@Gl Gomgg LomenalfsHeisd shdHemen &FHaisHid?
A) 8.26 B) 5.18 C)4.91 D) 7.32

118. What is the average.number of boys from all the colleges together?
DM HH BBV LIQH@GID LoTewieujHeien FITFfl Hrenids?
A) 4000 B) 2000 C) 1800 D) 1750

119. What is the respective ration between the girls studied in P & Q?
P wpmib Q ssveunfleeiled Ligh@d Tamelseler eldsd Hrewnis?
A)4:5 B) 5: 4 C)3:6 D)6:3
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120. Below are given marks of two candidates P and Q in four papers each. Study these marks and
then answer the question.

Candidate P Paper | | Paper Il | Paperlll | Paper IV
Maximum Marks 75 100 80 70
Marks Obtained 45 65 50 35
Candidate Q Paper V | Paper VI | Paper VII | Paper VIII
Maximum Marks 80 75 100 70
Marks Obtained 56 44 40 42

Considering the performance of P and Q together, who has put up the best performance in which
paper?

A) P in paper I B) Q in paper V C) P in paper | D) Q in paper VI

P oppib Q etenid @@  LomewTeNTHei, BIeii@ UTLHiGeMed GuBm A i6LswiseT S iefdalil (Beiener.

omewrelT P sren || smen I | sren Il | sren 1V
DFHBULF  HI0ILI6wT 75 100 80 70
QuBB  HIIGLIENT 45 65 50 35
omewred Q sren V | sreit VI | sreir VI | smeir VHI
IIHBULF WH G 80 75 100 79
OUBB WHLIGLER 56 44 40 42

P woppio Q @meufleir wHGUewISmen QUL B, WTT 6hbtl UTL S0 W0aF Fpliunsd CHTFd
QuBBIeTENTT 6T6did FmmIsH?

A) P ereiiueut sreir 11 @ed B) Q aistiueut smeit V. @ev

C) P eretiueuit smeir 1 Gsv D) Q emetiueut smeir VI Gev

121. Read the information and given answer.
There are 5 persons P,Q,R,S and T, One is a football player. One is a chess player. One is a
hockey player. P and S are unmarried ladies and do not participate in any game. None of the
ladies play chess or football. There is a married couple, in which T is the husband. Q is the brother
of R and is neither a chess player nor a hockey player.
Who is the hockey player?
A)P B) Q C)R D)S
HEOUMEV BOIG LQSHI, LHO Hreyib.
P,Q,R,S wBmdsF/opdui 5 puUTHeT. @meuT SmeoLbdl eiff. @meuT FHiIhis offf. qmelT amrod efff.
P oBmib S 6wt S moemionsnsd 1oseriiT. DieUTHelT 6hdH eMenemuTL IQevid SH6vh
CameTenTHeUTHeI. 61hHUT®H Wi FHTHISCLT, HTeoLBHEHT allememumLallsvsnev. HHLOMILOTE @(H
Gegmguiled T erediieuT wewrou syeutt. R wommid Q s@arsmyisenteusy. Q Faigms aifGrm SievevsH
amrdha elyCrm SlenLwimg.
@aTHerle0 amIHa elfy wmr?
AP B) Q C)R D)S
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122. Read the information and answer the question.
Five books A,B,C,D and E have to be proof read in 6 hours; one hour needs to be spent for one
book. A break of one hour is to be taken in the 3™ or 4™ hours. The proofreading cannot start with
A and has to end in C. D has to immediately follow B with no break in between. A cannot be done
immediately after D. A has to immediately precede E with no break between.
Which book is to proof-read immediately after the break?
HBHEUMED biIG LISl UHO SIeYLD.
A,B,C.D wipib E s4dlwi 5 yssamisamen 6 wenll GhysHdled Llenp Smobsd GaFuiw GeusmiBb. (@
UsSsSHBE& @ wenll ChHIb OFevall GouswiB). 3 oisvevdh 4 eugl ewi CHIHHe0, @ wewll CpyD
vl Couement @ule)y 61(BGHHIH GEBmeiTensuTD. A eTID LiSHHHHHe0 QHTLHISToe, Lewp HmsHsd C
IMID LSHHHHH60 (plpwl Geuswi(hid. Reml_Bausmsvuisvsomiosd D siemid LbsHsd B LshsssHden Ll
HMHHBHHHBG 6T OHTLmE Cauewipd. D siemid LbHHH Llewp HmHHHHB@&GEK LT 2 1 Ger A eranid
UssHal e HmHHd OFHTLHEDH dmLTsh. el Cauemenuisvsorioed A m@w Yassal U Hmssd E
D UbHBHHB@ et OHmmsiiiL GeuswrBib.
QemL_GBouemenr (LpHHAIL 6 Llemp HmBHHD OFuIw Ceuswrngul LbHHHID 6187
A E B) D C)B , D) A

123. Read the information and answer the question.
In a school, there are 5 teachers. A and B were teaching*Hindi and English. C and B were
teaching English and Geography. D and A were teaching Mathematics and Hindi. E and B were
teaching History and French.
Who among the teachers are teaching maximum number of subjects?
HBOUMEY B6iI& LIgHdl, LFO HILD.
@m ustefuied 5 yfflwitsst o eieneum. A (EBEID B enfibdub, symideoupd sBmid Hmdemsir. C
wBpId B oymisleoapd, yelulwevid sbmis sHmelsmsant. D woBmid A sallghuwd, anfibaHlun SBBIH
smIBepert. E wBpio B eugsormib,: (1Geh&HID SBmISH HHES 66T
winit I8&  sleuitennll bendUlevTen LML HiIGEneTd SBBISH T (HE eB6T?
A) A B) B C)C D) D

124. There were a total of 10.bicycles and tricycles. If the total number of wheels was 24, how many tricycles
were there?
QM DLHH6L CIHHD 10 QRHFHB] WBHBID POTR FHEBJ QUTHIMIS6T 2 616N, 6UamIgHeille0d 2 6iTen
QoTHEH FhHBImhiGeIT6 6lemTenbend 24 616060, 61HHMEN (LPEIHI FHBJ QITHIBIB6T 2 6il6nen?
A) 2 B) 6 C) 18 D) 4

125. P is greater than Q by 60% and greater than R by 30%. The ratio of Q and R is
P sieiiuauflesr Q-emeu il 60% wmmid R-23 efL 30% oi8s uewid 2 _eitengl eiafled, Q ommib R-6r
A& HmIH6T (LpewBEI.
A)l:2 B)2:1 C)13:16 D) 16 : 13

126. What is the average of the first ten 3 digit even number?
030 LUSGH 3- Deodd QATLMLLIOL danrbanear ST eere?

A) 104 B) 110 C) 109 D) 111
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127. In an election, A candidate got 40% votes and lost by 1500 votes. Find the total votes casted?
Apary e Ui’ L @@ CHTSHMN Qo) 40% CWTdg QLU bdkel ambid 1500
QULbEET AGHuTaSHed CHTHRICLITEIT] aafled b CHTH00 Lbamar GTds
PLbGBET dGHSHmen?
A) 7500 B) 6500 C) 600 D) 900

128. In a library 20% books are English 50% of the remaining books are tamil other language books are 800 in
total. find the number of Tamil books.
Q6 BTsSHD 20% Lsssbdd Dhadon sTibsma. Wapaamasdd 50%
LsSEbibar SO gnibsoma whp QTfl Lbssbisar 800 o diaal. daia absomet SO
QT UsSHbIGHaT HITOSSH0 2 aiare?
A) 1000 B) 500 C) 300 - D) 800

129. The ratio between the sale price and the cost price of an article is 7:5 What is the ratio between the profit
and the cost price of that article.
Q0 GuTBAE dipumeal dlmdGld I b dlmndgh o diar dASHSDA7:5 aald oTuD whpd s
dlemadg DG 2 _diem SlHBHID.
A) 2:7 B)5:2 C)3:4 D) None of these

130. x:y = 3:4, (4x+5y) : (5x —2y) =?
A)32:7 B) 7:23 C) 32:23 D)11:13

131. The ratio of three numbers is 3:4:5 and the sum of their squares is 1250, the Sum of the numbers is
P denrbanet AlESD 3:4:5 Ilasaa afssbsalar dol bS0sTed 1250 aeaie,
IAbS aaIHaT do L bHOSTOF SIS .

A) 30 B) 60 C) 90 D) 150

132. The ratio of present ages of Geeta & Deepa is 3:4 respectively. Two years hence this ratio would
become.10:13 respectively. How old is Geeta.
ST & SUTAST  SHELTMSL augsaiar dHsn 3:4 Ay AGLD L8] laTsafar
agl dHSID 10{13 aailed SSHTGT QLG 6T6TET?
A)26 B)20 C)24 D)18

133. A father is 30 years older than his son, 5 years later he will be only thrice as old as his son. Father’s present
Age in years is
SAlourdlear augTaig whHalar awm . 30 AHsD 5 aGLbIGH6 L0 e
MG 3 LBG Shadllar allg DHGh aald Shadilar SHELTMmSIL allig)
A)25 B)30 C)40 D)45
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134. A and B can do a work in 12 days. B & C in 15 days, C & A in 20 days. If A,B &C together, they will
complete the work in.
Aand B @menhgl @b Galemevenil 12 BTl &dled pudbdlameny. SN6s Cameei B wppid

C, 15 prl&afeond, C whpid A 20 BT Salgoid PusbHIDaTT aeailed dpaupld SlaCamevami
Damanhg CFUISTO dHbHamet BTaTHaNe (puLiLy?
A)S5 B)72 C) 10 D)152

135. A & B can do awork in 8 days , B & C can do the same work in 12 days. A,B & C together can finish it in
6 days. A & C together will do it in.
A wppid B @i Caimeueni 8 BT &aled pudbdlameny B whpid C whpid A,B&C pep@u
12 wpmd 6 BT SN0 PudHHDTT dafd A wppid C wlph DlaCamamu pudHdH
TS BT HATGLD?
A) 4 B) 6 C)8 D) 12

> Directions (Q. Nos. 136-140)
Study the following information carefully and answer-the questions accordingly.
Eleven people are sitting in a straight-line facing north. D is sitting fourth from one of the ends.
Three people are sitting between D and F. Five people are sitting between F and C. Two people
are sitting between C and P. A is sitting fourth to‘the right of P. Seven people are sitting between
A and R. Two people are sitting between R and-E. G is sitting third to the left of H. M is sitting to
the right of N.
BPBHMIL. HH6UOBMENL LIghHl eNemBsendCaBn alenL wefldasalb.
m CpIsauflnguisd eub@ Cpraal 11 BLy SIThHeGHST. D eraiea) G @I S@mFulsd RmHa
BreisTalsHTed o etenmy. D wommid (Fei’ @em_ B 3 Gujy 2 _sitenieny. F wpmpid C-e1 @ewt_ B 5 Guj
o eiemeon;. C opmid P-eir @ewGur 2 Gujy 2 eiteniedy. A eteiiion] Peii suevlImid HTeiIbTeuBHTH
o eiemmy. A wBpid R-er @ewt B 7 Guy 2 eitenieny. R wmmip E-e1 @em G 2 Gui o _siteneny. G
et H-e01 @Lmid cpeiimmausias 2 etemty. M eteiibieny N-61 eeOlIUBHSHe0 HTeh 2 6ien.

136. Who is sitting third\te-the right of N?
N-65T eU6OLILBID cRSSIBTOISHTH WITT,
A)C B) P C)E D) F

137. How many of them are sitting to the right of P?
P-6i1 auevlimid e1hHement BT o_siTerenty?
A) 4 B) 6 C)5 D)3

138. Who among the following are the immediate neighbours of F?
F-e1 21585 @mliLeuiadseit wimy?
A)E,H B)P,G C)A P D)R, H
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139. Who sits on the left end of row?
BLam Cxmguied o seiemeuy wimy?
A) N B) F C) A D) D

140. Who sits on the Right end of row?
alevgdILB Gsmguilsy o _eitemeuy wimy?
A) N B) F C)A D) D
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REGULAR PHYSICAL ACTIVITY
Morning - 5:30 to 8: 30 am ‘ Evening - 4:30 to 7: 00 pm
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